

Problem 13 from 1.4

$$\lim_{n \rightarrow \infty} \frac{e^{-1/n}}{1/n} = \frac{e}{2}$$

$$\lim_{n \rightarrow \infty} \frac{e^{-(1+\frac{1}{n})^n}}{1/n} = \lim_{n \rightarrow \infty} \frac{e^{-1 - \frac{1}{n}}}{1/n}$$

$$= \lim_{n \rightarrow \infty} \frac{(1+\frac{1}{n})^n \left[\frac{1}{n+1} - \ln(1+\frac{1}{n}) \right]}{-1/n^2}$$

$$= \lim_{n \rightarrow \infty} (1+\frac{1}{n})^n \left[n^2 \ln(1+\frac{1}{n}) - \frac{n^2}{n+1} \right]$$

$$= \lim_{n \rightarrow \infty} (1+\frac{1}{n})^n \left[n^2 \left[\frac{1}{n} - \frac{1}{2n^2} + \frac{1}{3n^3} - \frac{1}{4n^4} \dots - \frac{1}{n+1} \right] \right]$$

$$= \lim_{n \rightarrow \infty} (1+\frac{1}{n})^n \left[n^2 \left(\frac{1}{n} - \frac{1}{n+1} \right) - n^2 \left(\frac{1}{2n^2} - \frac{1}{3n^3} + \frac{1}{4n^4} - \dots \right) \right]$$

$$= \lim_{n \rightarrow \infty} (1+\frac{1}{n})^n \left[\frac{n^2(n+1-n)}{n^2+n} - n^2 \left(\frac{1}{2n^2} - \dots \right) \right]$$

$$= e \left(1 - \frac{1}{2} \right) = \frac{e}{2}$$

$$\begin{aligned} \frac{d}{dn} \left(1+\frac{1}{n} \right)^n &= \frac{d}{dn} \left(e^{n \ln(1+\frac{1}{n})} \right) \\ &= e^{n \ln(1+\frac{1}{n})} \left(\ln(1+\frac{1}{n}) + \frac{n}{1+\frac{1}{n}} \cdot \left(-\frac{1}{n^2} \right) \right) \\ &= \left(1+\frac{1}{n} \right)^n \left[\ln(1+\frac{1}{n}) + \frac{1}{n+1} \right] \end{aligned}$$

Maclaurin series for

$$\ln(1+t) = f(t)$$

$$\frac{1}{1+t} = f'(t)$$

$$-\frac{2t}{(1+t)^2} = f''(t)$$

$$+\frac{2!}{(1+t)^3} = f'''(t)$$

$$-\frac{(n-1)!}{(1+t)^n} = f^{(n)}(t)$$

for

$$f(0) = 0$$

$$f'(0) = 1$$

$$f''(0) = -2$$

$$f'''(0) = 2$$

$$f^{(n)}(0) = (-1)^{n-1} (n-1)!$$

$$f(t) = 0 + t - \frac{t^2}{2} + \frac{t^3}{3} - \frac{t^4}{4} \text{ etc } \dots$$